

			Vendor	Ranking		Page 1 of 1
Letting:	01181115	November 15, 2018 11:00 AM	Call Order	: 005	Contract:	E1S07-R0
District:	District 1		Counties:	DIST/ST-WIDE, POLK	Fed Aid No	: N/A
Contract Time:	365 AVAILA	BLE DAYS			Project(s):	43272717277 (*)
Contract Desc:	Shoulder Re	pair with Sod (North)				

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	MIDWESTERN CONSTRUCTION, INC	Responsive	Winning bid	\$208,609.00	100.00%
2	ENVIRONMENTAL LAND DEVELOPMENT, INC.	Responsive	Non-Winning Bid	\$240,141.40	115.12%
3	F.W.A.K., INC.	Responsive	Non-Winning Bid	\$258,570.40	123.95%
4	ABSOLUTE TREE AND ASSET SERVICES, LLC	Responsive	Non-Winning Bid	\$260,324.80	124.79%
5	THE JONES COMPANY OF SOUTH FLORIDA	Responsive	Non-Winning Bid	\$275,990.34	132.30%
6	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$285,514.37	136.87%
7	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$325,588.00	156.08%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 4

Letting:	01181115	November 15, 2018	Call Order:	005	Contract: E1S07-R0
District:	District 1		Counties:	DIST/ST-WIDE, POLK	Fed Aid No: N/A
Contract Time:	365 AVAILAE	BLE DAYS			Project(s): 43272717277 (*)

Contract Descr: Shoulder Repair with Sod (North)

The work under this Contract consists of Shoulder Repair With Sod (North)

	Line No / Item ID Alternate Quantity Item Description Units		(1) MIDWI CONSTRUC		(2) ENVIRONMENTAL LAND DEVELOPMENT, INC.		(3) F.W.A.K., INC.		
	-	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	SODDING (SY)						
0005 E FERTILIZI	E570 5 ER		3.000 TN	750.00000	2,250.00	750.00000	2,250.00	100.00000	300.00
	E570 9 1 OR GRASS	& PLANTS	10.000 MG	50.00000	500.00	45.00000	450.00	100.00000	1,000.00
0015 E SODDING	E575 1		54,637.600 SY	2.25000	122,934.60	2.69000	146,975.14	2.50000	136,594.00
	E577 70 ER REWORK	ζ	54,637.600 SY	1.50000	81,956.40	1.39000	75,946.26	1.50000	81,956.40
)	DERS (SPOT	9,680.000 SY	0.10000	968.00	1.50000	14,520.00	4.00000	38,720.00
	0001 SOI	DDING (SY) S	ection Totals:		\$208,609.00		\$240,141.40		\$258,570.40

Contract Grand Totals: \$208,609.00 \$240,141.40

258,570.40



Tabulation of Bids

Page 2 of 4

Lettin	g: 01181	115 N	ovember 15,	2018 Ca l	I Order: 005		Contract:	E1S07-R0	
	e No / Item ID Description	Alternate	Quantity Units	(4) ABSOLUT ASSET SER		(5) THE JONES SOUTH F		CONSULTING	ANAGEMENT & G OF FLORIDA
() in	dicates item is bid as l	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
	SECTION: 000	01 S	ODDING (SY)						
0005 FERTIL	E570 5 IZER		3.000 TN	477.00000	1,431.00	2,500.00000	7,500.00	0.01000	0.03
0010 WATEF	E570 9 1 R FOR GRASS & PL	_ANTS	10.000 MG	200.00000	2,000.00	650.00000	6,500.00	0.01000	0.10
0015 SODDII	E575 1 NG		54,637.600 SY	2.27000	124,027.35	1.10000	60,101.36	2.96000	161,727.30
0020 SHOUL	E577 70 DER REWORK		54,637.600 SY	1.98000	108,182.45	2.26000	123,480.98	1.44000	78,678.14
0025 REWOI REPAIF	E577 70 1 RKING SHOULDER RS)	RS (SPOT	9,680.000 SY	2.55000	24,684.00	8.10000	78,408.00	4.66000	45,108.80
	0001 SODDIN	NG (SY) Sec	tion Totals:		\$260,324.80		\$275,990.34		\$285,514.37
	Co	ontract Gra	nd Totals:		\$260,324.80		\$275,990.34		285,514.37



Tabulation of Bids

Page 3 of 4

Letting: 01181115	November 15, 2	2018 Cal	I Order: 005		Contract:	E1S07-R0	
Line No / Item ID Alternate Quantity Item Description Units			(7) T & M LAWN-FENCE SERVICE INC				
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	SODDING (SY)						
0005 E570 5 FERTILIZER	3.000 TN	1,000.00000	3,000.00				
0010 E570 9 1 WATER FOR GRASS & PLANTS	10.000 MG	100.00000	1,000.00				
0015 E575 1 SODDING	54,637.600 SY	4.50000	245,869.20				
0020 E577 70 SHOULDER REWORK	54,637.600 SY	0.50000	27,318.80				
0025 E577 70 1 REWORKING SHOULDERS (SPOT REPAIRS)	9,680.000 SY	5.00000	48,400.00				
0001 SODDING (SY) Se	ection Totals:		\$325,588.00		Ι		

Contract Grand Totals:

\$325,588.00



			Tabulation of Bids		Pa	age 4 of 4
Letting:	01181115	November 15, 2018	Call Order: 005	Contract:	E1S07-R0	
		120.57(3), Florid	o file a protest within the time pre da Statutes, or failure to post the l within the time allowed for filing a	bond or other security		

a waiver of proceedings under chapter 120, Florida Statutes.